ERS vs. EOQ  A Make vs. Buy Decision

The Rogerbuilt Truck Company sells Heavy earth moving trucks at the rate of  300 week (15,000 per year).   The plant can manufacture at the rate of 400 per week (20,000 per year). Rogerbuilt uses an Economic Run Size model to minimize the total of inventory holding and startup costs.  Startup costs per  run are $45,000.  Inventory holding costs are $15,000 per truck per year.

A)  What is the most economical run size (POQ) ? 

B) What is the maximum inventory?

C)  What is the total annual cost of production startups and holding trucks in inventory?

D) If it costs Rogerbuilt $35,000 per truck to actually manufacture, what is the total of  Inventory holding, startup and cost of manufacturing for the 15,000 trucks peryear?

 Joe Whizbang, MBA, has negotiated a deal with a defunct Yugoslavian automobile plant to make trucks for only $34,900 per truck.  These would be shipped to the Rogerbuilt sites with a fixed cost of, by coincidence, $45,000 for every shipment (total of all ordering and fulfillment costs). Inventory holding costs would still be $15,000 per truck per year.  Joe was given a very public raise and promotion for coming up with this scheme because it was projected to save $100 per truck times 15,000 trucks, or $1.5 Million and also allowed them to lay off a lot of employees just before Christmas.  He is now your boss's boss.  You have to implement the plan.

E) Use the EOQ model to calculate the best number of trucks to order at a time.

F) What would the total cost of inventory and ordering be for the year?

G)  Considering all these costs, and the savings on the truck manufacturing costs, how much will Joe Whizbang's plan save?  

H) How can you explain this?  Someone will have to take the blame for this.  What should you do?

